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It may have entered your mind to say, ‘it is a novelty, etc.’ it informs us

Overview

WX 27 taught that 011 %3 teaches us that we apply 71 12772 7°2 0°p, even in a case
where the monetary payment is a fine (01p),' which is a novelty, nevertheless we
exempt him from paying the 01p, based on the 2105 of 271 %3. Our MdOIN attempts
to resolve the teaching of *wX 27 with our mwn.

mooIn anticipates a difficulty:
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Even though our w» cites the o2 of POR 797> K9, in order to explain why
there is no 0Ip payment together with a 7"°2 nn°» 211, and here "wX 217 derives this
(same) rule from the 7105 of aan 92?

mooIn responds:
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This is because our mw» included all cases of the death penalty, regardless
whether the payment is 01p or 1%, as it states in the 71wn, ‘and whoever is liable
for execution does not pay money’ —

Mmoo offers an alternate solution:
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Or one may also say that our ;71w» is in accordance with the p''n of ¥''am, who
utilizes 071 95 for a different w7, therefore our 71wn could not cite it for n"2%p.

Summary
Our mawn cites NOX 71 X771 (not 071 72) because it is including »"2%p by 1an (not

only by 01p). Alternately our 73wn utilizes 011 22 for a different nwa7 altogether.

" This would be the cases of our Jawn (on 1,79) where it states T2RIW 12 WD 2PINAY 2197 0IP 177 1K 191102 Y XA
110K 777 K91

23,3, see footnote # 1.

395,80 (DwdWR) NINW.

* 13,15 (*npra) XPN.

> Therefore since it includes (besides o1p payment, also) 1mn payment, therefore it is appropriate to cite the P09 of
710K 7% X7 which is also discussing a %7 (not a 01p) payment (the payment for the fetus). However here where we
are discussing exclusively a 01p payment, therefore WX 17 cites the (extra) P105 of 2711 3. See “Thinking it over’.
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Thinking it over

Our mwn, which is discussing »"2%p by 01p, cites the P10 of 1OX 71°77° X91. Therefore
even though it applies to 1mn as well, but it certainly must apply to 01p, for the
mwn is citing it to explain n"2%p by o1p (the cases of our mwn).° The mwn must
assume that the Mo of »"2%> by 0ip can be derived from 0OX, so obviously it
disagrees with *wX 17; what is n101n answer?! It would seem that both answers of
mooIn are the same. Our 71wy, like the p"n of ¥"an", derives »n"2%p by 01p from 7OX
and argues with X" who maintains that it requires a special P10 of o7 75!

® See footnote # 5.
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